COSTWAY

www.costway.com

CosTway®

COSTWAY ‘

SHOP EASY. SAVE MONEY.

QP USER’S MANUAL
Retractable folding screen

THIS INSTRUCTION BOOKLET CONTAINS IMPORTANT SAFETY INFORMATION. PLEASE READ AND KEEP FOR FUTURE REFERENCE.

Please give us a chance to make it right and do better! Follow Costway

Contact our friendly customer service department for help first. Visit us: www.costway.com

Replacements for missing or damaged parts will be shipped ASAP! n u

EN|DE|FR|ES|IT|PL




COSTWAY

www.costway.com

> bbbk

> B

Contact Us!

Do NOT return this item.

Contact our friendly customer service department for help first.

E-mail
US: cs.us@costway.com

UK: cs.uk@costway.com

Before You Start

Please read all instructions carefully.

Retain instructions for future reference.

Seperate and count all parts and hardware.

Read through each step carefully and follow the proper order.

We recommend that, where possible, all items are assembled near to the
area in which they will be placed in use, to avoid moving the product
unnecessarily once assembled.

Always place the product on a flat, steady and stable surface.

Keep all small parts and packaging materials for this product away from

babies and children as they potentially pose a serious choking hazard.

COSTWAY

www.costway.com

. -
S ;? <
Fixed mount (X 2 piece) The cassette part (X2 piece) ®10x50 plastic expansion tube
(X14 PCS)

D

M8x75 hexagon tapping bolt (X14 PCS)

®

®8 washer (X14 PCS)

Installation Steps

Warning: When mounting the awning, keep the main part and stand column on the horizon, or the fabric will be deformed

and difficult to open and close.




COSTWAY COSTWAY

www.costway.com www.costway.com

1 Drill six 10mm diameter 8cm deep holes in the size as the following picture shows 4 Drill four 10mm diameter 8cm deep holes on the floor in the size as the following picture shows

V -
,\\
COCCTCCOC OOy - 8 om

10-mm masonry drill \ \

2 Insert one @10x50 mm plastic expansion tube (6pcs) in each of holes 5 Insert one ¢10x50 mm plastic expansion tube (4pcs) in each of holes

-/
b

ofwall

10-mm masonry drill

Z

cross sectio

)
cross sectio
ofwall
v

3 Insert one ¢10x50 mm plastic expansion tube (6pcs) in each of holes 6 Make the left bottom hole of fixed mount and the hole on the floor alignment, and tighten them with
M8x75 hexagon tapping bolt.

m =

b




COSTWAY

www.costway.com

Repeat step 4 to step 6 to fix right standing pole.

Correct use

1. Keeping the front bar upright, hold the handle and push it above the stand column. Hold the handle, and
press the handle spindle that the pin comes into the handle, and then put the handle into the stand column.

2. When you want to close it, to hold the handle and pull up the handle spindle. Keeping the fabric
horizontal and push the handle back to the cover slowly.

COSTWAY

www.costway.com

Welcome to visit our website and purchase our quality products!

Your suggestions and comments for COSTWAY are really important to us!
We sincerely solicit you to go back to our shop and leave a good rating in just a
simple click. It would be quite encouraging if you could kindly do so like below:

% % % % K Great products so far

February 24, 2019
Great products so far. Fast delivery, easy setup, and working without any issues.

With your inspiring rating, COSTWAY will be more consistent to offer you
EASY SHOPPING EXPERIENCE, GOOD PRODUCTS and EFFICIENT SERVICE!

US office: Fontana, California
UK office: Ipswich

* Reward Points
‘ * Exclusive Customer Service
* Personalized Recommendations

* Permanent Shopping Cart
* Order History

COSTWAY
www.costway.com

5 Star Rating

1 6. 6.8 .8 ¢

We would like to extend our heartfelt thanks to
all of our customers for taking time to assemble

Tk

S

this product and giving us valuable feedbacks.




COSTWAY

www.costway.de

CosTway*

o HANDBUCH
Versenkbarer Sonnenschutz

DAS HANDBUCH ENTHALT WICHTIGE SICHERHEITSHINWEISE. BITTE LESEN UND BEWAHREN SIE FUR DIE ZUKUNFTIGE VERWENDUNG AUF.

COSTWAY

www.costway.de

Bitte geben Sie uns eine Chance, Folgen Costway
es zu korrigieren und besser zu machen!
Wenden Sie sich zunachst an unseren freundlichen Kundendienst.

Ersatz fir fehlende oder beschadigte Teile wird so schnell wie méglich versendet! You
HEOE

8

Besuchen uns:www.costway.de

EN|DE|FR|ES|IT|PL

> b BPBEPBPDB

Kontaktieren uns!

Senden Sie diesen Artikel NICHT zuriick.

Wenden Sie sich zunachst an unseren freundlichen Kundendienst.

E-mail

DE:cs.de@costway.com

Vor dem Beginnen

Bitte lesen Sie alle Anweisungen sorgfaltig durch.

Bewahren Sie die Anweisungen zum zuklnftigen Verwendung auf.
Separieren und zahlen Sie alle Teile und Hardware.

Lesen Sie jeden Schritt sorgfaltig durch und befolgen Sie die richtige
Reihenfolge.

Wir empfehlen, wenn maoglich, alle Artikel in der Nahe des Einsatzortes zu
montieren, um ein unnotiges Bewegung des Artikels zu vermeiden.

Stellen Sie den Artikel immer auf eine glatte, flache und stabile Oberflache.
Halten Sie alle kleinen Teile und Verpackungsmaterialien dieses Artikels
von Babys und Kindern fern, da sie zur ernsthaften Erstickungsgefahr

fihren kdénnen.




COSTWAY COSTWAY

www.costway.de www.costway.de

@ © 1 Bohren Sie sechs Lécher mit einem Durchmesser von 10 mm und einer Tiefe von 8 cm, wie in der
folgenden Abbildung dargestellt.

2

10mm Steinbohrer

Querschnitt
der Wand

£

S5 L

Feste Halterung (2 Stiick) Das Kassettenteil (2 Sttick) @10 x 50 Kunststoff Expansionsrohr 2
(14 Stiick)

N

Fuhren Sie in jedes der Lécher ein Kunststoff-Expansionsrohr (& 10 x 50 mm, 6 Stiick) ein.

() ©

M8 x 75 Sechskantschraube (14 Stk.) @8mm Dichtung (14 Stk.)
Installationsschritte 3 Fuhren Sie in jedes der Lécher ein Kunststoff-Expansionsrohr (& 10 x 50 mm, 6 Stiick) ein.
Warnung: Wenn Sie die Markise montieren, lassen Sie das Hauptteil und die Standséule am Horizont, da sonst der Stoff ,\
deformiert und schwer zu 6ffnen und zu schlieRen ist. e

- M@

10 11




COSTWAY COSTWAY

www.costway.de www.costway.de

Bohren Sie vier Lécher mit einem Durchmesser von 10 mm und einer Tiefe von 8 cm in der GréRe, wie in 7 Wiederholen Sie die Schritte 4 bis 6, um die rechte Stange zu befestigen.

der folgenden Abbildung dargestellt.
’ \\

m ¢ 8cm }j
10-mm masonry drill \

Bestimmungsgemafe Verwendung

1. Halten Sie die vordere Stange aufrecht, halten Sie den Griff und schieben Sie ihn liber die Stativsaule.
Halten Sie den Griff und driicken Sie auf die Griffspindel, bis der Stift in den Griff gelangt. Setzen Sie dann den
Griff in die Stativsaule ein.

A

ofwall

cross section
Z

Flhren Sie in jedes der Locher ein Kunststoff-Expansionsrohr (& 10 x 50 mm, 4 Stiick) ein.

2. Wenn Sie es schlieRen mochten, halten Sie den Griff und ziehen Sie die Griffspindel nach oben. Halten
Sie den Sonnenschutz waagerecht und schieben Sie den Griff langsam zur Abdeckung zurtick.

Machen Sie das linke untere Loch der festen Halterung und das Loch in der Bodenausrichtung und
ziehen Sie sie mit der Sechskantschraube M8x75 fest.

R

12 13




COSTWAY

www.costway.de

lhre Vorschldage und Kommentare fiir COSTWAY sind wirklich wichtig fiir uns!

Wir bitten Sie aufrichtig, in unsere Geschaft zuriickzukehren und durch nur einen
Klick eine gute Bewertung zu hinterlassen. Es ware sehr ermutigend, wenn Sie
das so tun kénnten:

% % % % X Tolle Produkte bis jetzt

24. Februar 2019
Gute Produkte. Schnelle Lieferung, einfaches Aufbauen, funktionieren ohne Problem.

Mit Ihrer inspirierenden Bewertung wird COSTWAY konsistenter sein, um lhnen
EIN SCHONES EINKAUFSERLEBNIS, GUTE PRODUKTE und EFFIZIENTEN SERVICE zu bieten!

DE office:FDS GmbH,Neuer Holtigbaum 36,22143 Hamburg,Deutschland

* Belohnungspunkte
‘ * Exklusiver Kundendienst
* Personalisierte Empfehlungen

* Permanenter Einkaufswagen
* Bestellverlauf

COSTWAY
www.costway.de

5 Sterne Bewertung

1 6. 6.8 .8 ¢

Wir mochten uns bei allen Kunden herzlich bedanken, 'LE\/EN
dass sie sich die Zeit genommen haben, dieses Produkt VANK

zusammenzubauen und uns wertvolle Bewertung

) g

zukommen zu lassen.

14

COSTWAY

www.costway.fr

CosTway®

A\

MANUEL DE L'UTILISATEUR

Paravent Rétractable

CE MANUEL D'INSTRUCTIONS CONTIENT DES INFORMATIONS IMPORTANTES SUR LA SECURITE. VEUILLEZ LIRE ET CONSERVER POUR LA REFERENCE FUTURE.

VEUILLEZ NOUS DONNER UNE

OCCASION DE L’AMELIORER ET FAIRE MIEUX!

Contactez d’abord notre service a la clientéle amical pour I'aide.

Les replacements pour les piéces manquantes ou endommagées seront

envoyés le plus vite possible!

15

Suivez Costway
Consultez-nous : www.costway.fr

2AAC

EN|DE|FR|ES|IT|PL



COSTWAY

www.costway.fr

Contactez-nous !

Ne retournez pas cet article.
Contactez d’abord notre service a la clientéle amical pour 'aide.

E-mail

FR: cs.fr@costway.com

Avant de Commencer

A Veuillez lire attentivement toutes les instructions.

/\ Conservez les instructions pour la référence future.

A Séparez et comptez toutes les pieces et les outils de matériel.

A Lisez attentivement chaque étape et suivez le bon ordre.

A Nous recommandons que, si possible, tous les éléments soient assemblés
a proximité de la zone dans laquelle ils seront utilisés, afin d'éviter de
déplacer inutilement le produit une fois assemblé.

A Placez toujours le produit sur une surface plane, solide et stable.

A Gardez toutes les petites piéces et le matériel d'emballage de ce produit
hors de portée des bébés et des enfants car ils pourraient provoquer un

risque grave d’étouffement.

16

COSTWAY

www.costway.fr

=
>
Support fixe x 2 Couverture x 2

@10 x 50 Tube d’expansion en
plastique x 14

D

M8x75 Boulon de taraudage hexagonal x 14

®8 Rondelle x 14

Etapes d’Installation

Avertissement : Lors du montage du produit, laissez la partie principale et le support sont horizontals, sinon le tissu serait

déformé et difficile a ouvrir et a fermer.

17




COSTWAY

www.costway.fr

COSTWAY

www.costway.fr

1 Percez six trous de 10 mm de diametre et 8 cm de profondeur dans la taille illustrée ci-dessous.

Foret a magonnerie 10mm \

Section transversale
du mur

2 Insérez un tube d’expansion en plastique ®10 x 50mm (6 piéces) dans chaque trou

3 Insérez un tube d’expansion en plastique ®10 x 50mm (6 pieces) dans chaque trou

18

Percez quatre trous de 10 mm de diametre et 8 cm de profondeur dans le sol, comme indiqué sur la photo

suivante.
v \

8 cm )

Foret a magonnerie 10mm \

)

Section transversale
du mur
Z

Insérez un tube d’expansion en plastique ®10 x 50mm (4 pieces) dans chaque trou

Faites le trou inférieur gauche du support et le trou sur I'alignement du sol et serrez-les a I'aide du
boulon de taraudage a six pans M8x75.

=

19




COSTWAY

www.costway.fr

7 Répétez les étapes 4 a 6 pour fixer le poteau droit.

Utilisation correcte

1. En maintenant la barre avant en position verticale, tenez la poignée et poussez-la au-dessus de la colonne
du support. Tenez la poignée et appuyez sur I'axe de la poignée pour que la goupille entre dans la poignée,
puis placez la poignée dans la colonne du support.

2. Lorsque vous souhaitez le fermer, tenez la poignée et soulevez son axe. Gardez le tissu horizontal et
poussez la poignée vers la couverture lentement.

20

COSTWAY

www.costway.fr

Bienvenue pour visiter notre site et acheter nos produits de qualité!

Vos suggestions et commentaires pour COSTWAY sont vraiment importants pour nous!
Nous vous sollicitons sincérement de revenir dans notre boutique et de laisser une bonne évaluation en
un simple clic. Ce serait trés encourageant si vous pouviez le faire comme ci-dessous:

% % % % % Bons produits jusqu’a présent

24 février 2019
Excellents produits jusqu’a présent. Livraison rapide et I'installation facile. Et le fonctionnnement sans probléme.

Avec votre évaluation inspirante, COSTWAY sera plus professionnel pour vous offrir une
BONNE EXPERIENCE D’ACHATS, de BONS PRODUITS et un SERCIVE EFFICACE !

FR office : 26 RUE DU VERTUQUET, 59960 NEUVILLE EN FERRAIN, FRANCE

* Points de Récompense

‘ * Service a la Clientéle Exclusif

* Recommandations Personnalisées
* Panier Permanent

* Historique des Commandes

COSTWAY
www.costway.fr

Evaluation de Cing-étoiles

1 6. 6.6 .8 ¢

Nous tenons a vous présenter nos remerciements

MERC!

S

sincéres a tous nos clients qui prennent beaucoup
de temps pour assembler ce produit et nous donner

des commentaires précieux.

21




COSTWAY

www.costway.es

CosTway"

V'

MANUAL DEL USUARIO

Toldo Lateral Retractil

ESTE MANUAL DE INSTRUCCIONES CONTIENE IMPORTANTES INFORMACIONES DE SEGURIDAD, POR FAVOR LO LEAY GUARDE PARA REFERENCIAS FUTURAS.

jPor favor dénos la oportunidad de hacerlo bien y mejorar!
Primero péngase en contacto con nuestro amable departamento de
servicio al cliente para obtener ayuda. jLos reemplazos de piezas faltas o
dafadas se enviaran lo antes posible!

Siga Costway

Visitenos: www.costway.es

22

EN|DE|FR|ES|IT|PL

7l]e

COSTWAY

www.costway.es

jContactenos!

NO devuelva este articulo.
Primero pongase en contacto con nuestro amable departamento de servicio al cliente para obtener ayuda.

E-mail

ES: cs.es@costway.com

Antes de Empezar

A Por favor lea todas instrucciones con mucha atencion.

A Retenga instrucciones para referencias futuras.

A Separe y cuente todas las piezas y accesorios.

& Lea cada paso cuidadosamente y siga el orden correcto.

& Recomendamos que, cuando sea posible, todos los articulos se armen
cerca del area en la que se utilizaran, para evitar mover innecesariamente
el producto cuando emsamble.

A Siempre coloque el producto sobre una superficie plana, estable y firme.

A Mantenga todas las piezas pequefias y los materiales de embalaje de este
producto lejos de los bebés y los nifios, ya que representan un grave

riesgo de asfixia potencialmente.

23




COSTWAY COSTWAY

www.costway.es www.costway.es

@ @ 1 Taladre seis agujeros de 10 mm de diametro y 8 cm de profundidad en el tamafio que muestra la siguiente
imagen.

2

v = \
E
o
——— 35
8 cm ==
S
5 &,
10-mm taladro de albafiileria \ \ \\§%

W

Montaje fijo (x 2 piezas) La parte del casete (x2 piezas) ©10x50 tubo de expansion de pléstico 2 Inserte un tubo de expansion de plastico de 10 x 50 mm (6 piezas) en cada uno de los agujeros

(x14 piezas)

() ©

M8x75 perno de rosca hexagonal (x 14 piezas) @8 lavadora (x 14 piezas)
Pasos de Instalacion 3 Inserte un tubo de expansion de plastico de x10x50 mm (6 piezas) en cada uno de los agujeros.
Advertencia: Al montar el toldo, mantenga la parte principal y la columna de pie en el horizonte, o la tela se deformara y
sera dificil de abrir y cerrar. ’B

24 25




COSTWAY COSTWAY

www.costway.es www.costway.es

4 Taladre agujeros de 10 mm de didmetro y 8 cm de profundidad en el piso en el tamafio que muestra la
siguiente imagen. 7

Repita del paso 4 al paso 6 para fijar el poste derecho.

7 = Uso correcto
\ 1.Manteniendo la barra frontal en posicion vertical, sostenga la manija y empujela sobre la columna del
= soporte. Sujete el mango y presione el eje del mango para que el pasador entre en el mango, y luego coloque
\ § el mango en la columna del soporte.
7
@©
8 cm Jg;\
10 mm taladro de albanileria 338
5 Inserte un tubo de expansion de plastico de @10 x 50 mm (4 piezas) en cada uno de los
agujeros.
2. Cuando desee cerrarlo, sujete el mango y levante el eje del mango. Manteniendo la tela horizontal y
empuje el asa hacia la cubierta lentamente.
6 Haga el orificio inferior izquierdo del soporte fijo y el orificio en la alineacion del piso, y apriételos con
un perno de rosca hexagonal M8x75.

27

26 27




COSTWAY

www.costway.es

iBienvenido a visitar nuestro sitio web y comprar nuestros
productos de alta calidad!

iSus sugerencias y comentarios para COSTWAY son muy importantes para nosotros!

Le solicitamos sinceramente que vuelva a nuestra tienda y deje una buena calificacion con solo un
clic. Seria muy alentador si pudiera hacerlo amablemente como a continuacion:

% % % % X Productos mejores hasta ahora

Febrero 24, 2019
Productos mejores hasta ahora. Entrega rapida, configuracion facil y funciona sin problemas.

iCon su calificacion inspiradora, COSTWAY sera mas consistente para ofrecerle EXPERIENCIA
DE COMPRA CONVENIENTE, BUENOS PRODUCTOS y SERVICIO EFICIENTE!

EE.UU.: Fontana, California

Reino Unido: Ipswich

* Puntos de recompensa
‘ * Servicio al cliente exclusivo
* Recomendaciones personalizadas

* Carrito de compras permanente
* Historial de pedidos

COSTWAY
www.costway.es

Calificacion de 5 estrellas

1 6. 6.8 .8 ¢

Nos gustaria expresar nuestro mas sincero
agradecimiento a todos nuestros clientes por tomarse ézAC‘Ae

el tiempo de ensamblar este producto y brindarnos
V

valiosos comentarios.

28

COSTWAY

www.costway.it

CosTway*

v/

o r)

MANUALE UTENTE

Paravento Laterale Retrattile

QUESTO MANUALE DI ISTRUZIONI CONTIENE IMPORTANTI INFORMAZIONI SULLA SICUREZZA. S| PREGA DI LEGGERE E CONSERVARE PER RIFERIMENTO FUTURO.

Vi preghiamo di darci la possibilita di fare bene e fare di meglio!

Per prima cosa contatta il nostro servizio di assistenza clienti.
Sostituzioni per parti mancanti o danneggiate saranno spedite al piu

presto!
29

Seguire Costway
Visitateci: www.costway.it

AAC

EN|DE|FR|ES| IT|PL



COSTWAY COSTWAY

www.costway.it www.costway.it

Contattaci!

NON restituire questo articolo.
Per prima cosa contatta il nostro servizio di assistenza clienti. @

5,9
(/

E-mail

IT: cs.it@costway.com

UL J

Supporto fisso x 2 Parte di cassetta x 2 @10 x 50 Tubo di espansione in
plastica x 14

N

[ ] [ ] [ ] [ ] [ ]
Prima di iniziare
D 3
Si prega di leggere attentamente tutte le istruzioni.
Conservare le istruzioni per riferimento futuro.

Separare e contare tutte le parti e I'hnardware.

Leggere attentamente ogni passaggio e segui l'ordine corretto.
M8 x 75 Bullone autofilettante x 14 ®8 Rondella x 14

>BbB>bB

Raccomandiamo che, ove possibile, tutti gli articoli siano assemblati vicino

all'area in cui saranno collocati, per evitare di spostare il prodotto inutil- o .
Passi di installazione

mente una volta assemblato. Avvertenza: durante il montaggio del prodotto, mantenere la parte principale ed appoggiare la colonna di supporto,
altrimenti il tessuto si deformera e sara difficile da aprire e chiudere.

Posizionare sempre il prodotto su una superficie piana e stabile.

> B

Conservare tutte le parti di piccole dimensioni e i materiali di imballaggio Frr

per questo prodotto lontano da neonati e bambini poiché potrebbero

causare un serio rischio di soffocamento. @ @

30 31




COSTWAY

www.costway.it

COSTWAY

www.costway.it

1 Praticare sei fori con un diametro di 10 mm e una profondita di 8 cm come mostrato nella figura seguente.
N4 = \
@
3
o
@
8cm =
% £
10-mm trapano per muratura \ 83
2 Inserire un tubo di espansione in plastica ¢10 x 50 mm (6 pezzi) in ciascuno dei fori.

Praticare sul pavimento quattro fori con un diametro di 10 mm e una profondita di 8 cm come mostrato

nella figura seguente.
V\\ N
<

COCTCOCOCCY som )

10-mm trapano per muratura \

L
sezione trasversale

del muro

Inserire un tubo di espansione in plastica ¢10 x 50 mm (4 pezzi) in ciascuno dei fori.

U

3 Inserire un tubo di espansione in plastica ¢10x50 mm (6 pezzi) in ciascuno dei fori.

Effettuare il foro inferiore sinistro del supporto fisso e il foro sull'allineamento del pavimento e serrarli
con il bullone filettato esagonale M8 x 75.

2

33

32




COSTWAY

www.costway.it

COSTWAY

www.costway.it

7 Ripetere i passi da 4 a 6 per fissare il palo.

Uso corretto

1.Mantenendo la barra anteriore in posizione verticale, afferrare la maniglia e spingerla sopra la colonna del
supporto. Afferrare la maniglia e premere il perno della maniglia in modo che il perno entri nella maniglia, poi
inserire la maniglia nella colonna del supporto.

2.Quando si desidera chiuderlo, tenere la maniglia e sollevare il perno della maniglia. Mantenere il
tessuto orizzontale e spingere lentamente la maniglia verso la fodera.

34

Benvenuti a visitare il nostro sito Web e acquistare i nostri
prodotti di qualita!

| tuoi suggerimenti e commenti per COSTWAY sono davvero importanti per noi!
Ti chiediamo sinceramente di tornare al nostro negozio e lasciare un buono
commento con un semplice clic. Sarebbe piuttosto incoraggiante se potessi
gentilmente farlo come in seguito:

% % % % % Ottimi prodotti finora

24 febbraio 2019
Grandi prodotti finora. Consegna veloce, facile configurazione e funzionamento senza problemi.

Con il tuo commento stimolante, COSTWAY continuera a offrirti FACILITA DI ACQUISTO FACILE,
PRODOTTI BUONI e SERVIZIO EFFICIENTE!

US ufficio: Fontana, California
UK ufficio: Ipswich

* Punti del premio
‘ * Servizio dei clienti esclusivo

* Raccomandazioni personalizzate
* Carrello permanente
* Storia degli ordini

COSTWAY
www.costway.it

Commento di 5 stelle

1 6.6 .8 .8 ¢

Ringraziamo sinceramente tutti i nostri clienti per
aver dedicato del tempo per assemblare questo é@A¢‘e

prodotto e fornirci preziosi feedback.
V

35




COSTWAY

www.costway.pl

CosTwar*

INSTRUKCJA OBSLUGI
Sktadany parawan

NINIEJSZA INSTRUKCJA ZAWIERAISTOTNE INFORMACJE DOTYCZACE BEZPIECZENSTWA. PROSIMY O ZAPOZNANIE SIE Z NIA | ZACHOWANIE JEJ DO WGLADU W PRZYSZLOSCI.

W razie klopotéw skontaktuj sie z nami!

Jesli potrzebujesz pomocy skontaktuj sie z naszym przyjaznym dziatem

obstugi klienta

Sledz Costway

Odwiedz nas: www.costway.pl

Ewentualne braki elementéw zostang uzupetnione najszybciej jak to mozliwe! n g . .

36

EN| DE|FR|ES| IT| PL



COSTWAY

www.costway.pl

Skontaktuj sie z nami!

Nie zwracaj tego produktu.

Jesli potrzebujesz pomocy, skontaktuj sie z naszym przyjaznym dziatem obstugi klienta.

E-mail

PL: sklep@costway.pl

Zanim Zaczniesz

Zapoznaj sie z instrukcja.

Zachowaj instrukcje do wgladu.

Upewnij sie, ze zestaw jest kompletny.

Zapoznaj sie ze sposobem montazu i postepuj zgodnie z instrukcjg.
Sprawdz czy dysponujesz wystarczajgcg przestrzenig roboczg.

Upewnij sie, ze produkt znajdzie sie na ptaskiej i stabilnej powierzchni.

>B>BBEPBBPP

Upewnij sie, ze materiaty wykorzystane podczas pakowania produktu oraz

jego elementy znajdujg sie poza zasiegiem dzieci.

37




COSTWAY

www.costway.pl

g@
{/

07) 4

State mocowanie (x2 szt) Czes¢ kasety (x2 szt) Plastikowa rura rozprezna ¢ 10 x 50
(x14 szt)

Ny

() (2

Sruba z tbem szesciokatnym M8 x 75 (x14 szt) Podkiadka @8 (x14 szt)

Kroki instalacyjne

Ostrzezenie: Podczas montazu markizy nalezy trzyma¢ czg$¢ gtéwng i kolumne horyzontalnie, w przeciwnym razie
tkanina begdzie zdeformowana i trudno bedzie jg otworzy¢ i zamkna¢.

38



COSTWAY

www.costway.pl

1 Wywier¢ sze$¢ otwordw o srednicy 10 mm i gtebokosci 8 cm, jak pokazano na ponizszym obrazku

Wiertto do kamienia 10 mm

2

przekroj $ciany

2 W6z jedna plastikowg rurke rozprezng ¢10x50 mm (6 sztuk) do kazdego z otworéw

3 W16z jedng plastikowq rurke rozprezng ¢10x50 mm (6 sztuk) do kazdego z otworéw

39




COSTWAY

www.costway.pl

Wywier¢ w podfodze cztery otwory o $rednicy 10 mm i gtebokosci 8 cm, tak jak pokazano na ponizszym

V\\ i
D

8cm )

Wiertto do kamienia 10 mm \

6j $ciany

przekra
Z

Wi6z jedng plastikowg rurke rozprezng ¢10x50 mm (4szt) do kazdego z otworéw

Wykonaj lewy dolny otwor uchwytu statego oraz otwér w osi podtogi i dokre¢ go $rubg gwintujacg z
tbem szesciokatnym M8x75.

2

40




COSTWAY

www.costway.pl

7 Powtorz kroki od 4 do 6, aby zamocowac prawy stojgcy stupek.

Poprawne uzytkowanie

1. Trzymajac przedni drazek w pozycji pionowej, przytrzymaj uchwyt i pchnij go nad kolumne stojgcg. Chwy¢
uchwyt i nacisnij trzpier uchwytu, w ktéry wchodzi kotek, a nastepnie wtéz uchwyt do kolumny stojaka.

2. Aby ztozy¢, przytrzymaj uchwyt i pociggnij trzpien uchwytu. Trzymajgc materiat poziomo, powoli pchnij
uchwyt z powrotem do pokrowca.

41



COSTWAY

www.costway.pl

Zapraszamy do odwiedzenia naszej strony internetowej!

Twoje sugestie i komentarze dotyczace COSTWAY sg dla nas bardzo wazne!
Serdecznie zachecamy do powrotu do naszego sklepu i pozostawienia dobrej
oceny - wystarczy proste klikniecie. Byloby nam mito, gdyby twoja ocena
wygladata jak ponizej:

% % % % K Swietne produkty

24 luty 2018
Swietne produkty. Szybka dostawa, fatwa konfiguracja i wysoka jako$¢ wykonania.

Twoja ocena nas inspiruje! Dzieki niej COSTWAY bedzie dazyt do zaoferowania ci WYDAJNEJ
OBSLUGI, DOBRYCH PRODUKTOW | BEZPROBLEMOWYCH ZAKUPOW!

PL office: Gdansk

* punkty lojalno$ciowe
‘ * doskonata obstuga klienta
* personalizowane rekomendacje

* karta statego klienta
* historia zamowien

COSTWAY
www.costway.pl

Pieciogwiazdkowa Ocena

1.6 8 ¢

Dziekujemy za dokonanie zakupu w naszym

sklepie i zapraszamy do odwiedzenia go w Vz‘aK‘AJEM‘(

przysztosci!
) g

42




